Additon and subtraction problems

1. Chloe has £2.26 more than
Becky who has £1. 98. How
much money does Chloe
have?

2. Toni had £1.29, then
bought an ice cream for 99p.
How much has she left?

4. Kate has £3.26 she needs

£4.18 to buy felt tips. How
much more money does she
need to buy them?

3. It costs Ben £4.16 to post

two parcels. One parcel costs
£3.32 to post. How much does
the other parcel cost to post?

5. One ribbon is 56 cm long,
another 67 cm of ribbon is
needed . How much ribbon is
needed altogether?

6. An potato weighs 235
grams, an egg weighs 196
grams less. How much does
an egg weigh?

7. A bottle of coke holds 542
millilitres and a bottle of
orange holds 335 millilitres.
How much more liquid does
the bottle of coke hold?

8. Kelly buys a book for £1.26
and a comic for £2.09. How
much does she spend
altogether?

9. | swam for 22 minutes and
then continued to swim for
another 55 minutes. How long

did | swim for?

10. I swam for 50 minutes
and had a break. | wanted to
swim for 1 hour and 20
minutes. How much longer do

| have to swim for?




